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A 3.00 44,000. 00 132, 000
Bl S H A
A 9.00 34, 300. 00 308, 700
HmRE EEAEEDY
% 10. 00 440, 700. 00 44,070
HAETHEE EEANGEEEEEDY
% 3.00 484, 770. 00 14, 543
& Hi YEZERESN - 100.00km 2 4,993.00 499, 313
5.3
B BRBET—2 774 LB HRIEHR L AJL1000 100km2%Y
2 b g - BIRTE By = BHO(f %8 # " =
BIEFEHEM
A 0.50 51, 000. 00 25,500
RIS HRER
A 1.50 44,000. 00 66, 000
Bl S H A
A 2.50 34, 300. 00 85, 750
HEmRE EEAEEDY
% 9.50 171, 250. 00 16, 838
Mg EEAEEDY
% 2.00 171, 250. 00 3, 545
HAETHEE EEANGEEEREDY
% 3.00 194, 088. 00 5,822
& Hi YEZERESN - 100.00km 2 2,034.00 203, 455
&5 .36
2 EBERRBERE 1LY
2 b g - BIRTE By = BHoO(f %8 # " =
EBEBRERERE
= 1.00 51, 000. 00 51,000
& Hi 1E%HeH - 1.00K 51,000. 00 51,000
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THFEHM R ERRAE

&5 .37
2% REXEE 1XEY
2 b g - BIRTE By = B ] W = " =
REXEE
= 1.00 1,103. 00 1,103
& Hi 1YE%HeRH 1,00 1,103. 00 1,103
= : 38
&% BERE HEED)
2 b g - BIRTE By = B ) W E " =
REE 5S4 kY 2L
B 2.00 3,318.00 6,636/2.00H / 8H
@R FRP D 70PSZ%! 3.0t
B 1.00 76, 536. 00 76, 536 |8H
RIS HRER
A 2.00 44,000. 00 88, 000
Bl S H A
A 2.00 34, 300. 00 68, 600
BEENF
A 1.00 32, 200. 00 32,200
MR ELNOY
% 2.00 271,972.00 5,439
& B 1YEZHER - 1.00[E 277,411.00 2717, 411
&5 :39
£ AEHEROEN - 2R (FREDRD) 1XEY
2 b g - BIRTE By = B ) W = " =
FEHRAR (F%ET)
A 4.00 62, 200. 00 248, 800
AR (A)
A 8.00 55, 200. 00 441, 600
e (B)
A 12.00 45, 300. 00 543, 600
AR (C)
A 16. 00 35, 600. 00 569, 600
EXERARE ELNOY
% 1.00 1, 803, 600. 00 18, 036
& Hi 1E%HeH - 1.00K 1, 821, 636. 00 1,821,636
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THFEHM R ERRAE

&S 40
£ SISEENMERRYELD 1LY
2 b g - BIRTE BT H = B O %8 W = " =
FEHRAR (F%ET)
A 2.00 62, 200. 00 124, 400
AR (A)
A 2.00 55, 200. 00 110, 400
e (B)
A 4.00 45, 300. 00 181, 200
AR (C)
A 8.00 35, 600. 00 284, 800
g
A 8.00 31, 600. 00 252,800
EXERARE 2E0%
% 1.00 953, 600. 00 9,536
& Hi 1E%HeH - 1.00K 963, 136. 00 963, 136
&5 M
2% AFEARRROER 1LY
2 b g - BIRTE BT H = B O %8 W = " =
AR (C)
A 0.50 35, 600. 00 17, 800
& Hi 1E%HeH - 1.00K 17, 800. 00 17, 800
=)
¥ BATHE HEED)
2 b g - BIRTE BT B = B Ol %8 W = " =
BIEFEHEM
A 1.00 51, 000. 00 51,000
RIS HRER
A 0.50 44,000. 00 22,000
& Hi 1YEZHEH - 1.00[E 73, 000. 00 73, 000
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SHMeEEHFIR ML BRART

&5 .43
& PRERE HEED)
2 b g - BIRTE By = BHO(f %8 W = " =
BIEFEHEM
A 0.50 51, 000. 00 25,500
RIS HRER
A 0.50 44,000. 00 22,000
& Hi 1YEZHEH - 1.00[E 47,500. 00 47,500
ES .M
£ EW|E HEED)
2 b g - BIRTE By = BHO(f %8 W E " =
BIEFEHEM
A 0.50 51, 000. 00 25,500
RIS HRER
A 0.50 44,000. 00 22,000
& Hi 1YEZHER - 1.00[E 47, 500. 00 47,500
&S .45
£ REEEM” 1LY
2 b g - BIRTE By = BHO(f %8 W E " =
ZEEEMm FRP D 180PS#Y
B 3.60 150, 396. 00 541,4256.00H / 8H
MR 2E0%
% 0.50 541, 425. 00 2,107
& B 1E%HeRH - 1.00K 544,132. 00 544,132
&S .46
W EBRRERE (SH6EE FMARHERREE) 1LY
2 b g - BIRTE By = BHoO(f %8 W = " =
EBHRERERE
= 1.00 100, 000. 00 100, 000
& Hi 1E%HeH - 1.00K 100, 000. 00 100, 000
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SHMeEEHFIR ML BRART

&5 .47
£ EBRREE (SISEENMEERVELD) IEED)
2 b g - BIRTE By = B O ® W = " =
EBHRERERE
= 1.00 100, 000. 00 100, 000
& Hi L] 1.00= 100, 000. 00 100, 000
&S .48
£F5 . HIEERE X4y
2 b g - BIRTE By = B O ® W E " =
KESHHARE
= 1.00 16, 760, 468. 00 16, 760, 468
EENHHARE
= 1.00 622, 800. 00 622, 800
§MITS VY U mE
= 1.00 720, 000. 00 720, 000
WIS oy bomE
= 1.00 1, 296, 000. 00 1,296, 000
Al - MERASWE
= 1.00 838, 800. 00 838, 800
EEEMOTE
= 1.00 721, 200. 00 7217, 200
HEEMDITE
= 1.00 1, 939, 200. 00 1,939, 200
BANEEINE
= 1.00 300, 000. 00 300, 000
FREVMAIINE
= 1.00 1, 680, 800. 00 1, 680, 800
FREBNTHRE
= 1.00 3,071, 640. 00 3,071, 640
& Hi 1E%HeH - 1.00K 27,956, 908. 00 27,956, 908
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